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énlP .roD .hC .kleC íčlíD .žurD énlP .roD .hC .kleC íčlíD .žurD

1 341 35 4 691 × 1 441 94 4 391 ×
2 031 86 0 891 × 2 261 07 6 232 ×
3 × 3 ×
4 × 4 ×

.kleC 372 121 4 493 × .kleC 603 911 01 524 ×
1 641 98 0 532 × 1 161 86 3 922 ×
2 361 26 1 522 × 2 651 79 1 352 ×
3 × 3 ×
4 × 4 ×

.kleC 903 151 1 064 × .kleC 713 561 4 284 ×
1 861 98 2 752 × 1 551 08 0 532 ×
2 641 27 2 812 × 2 361 15 6 412 ×
3 × 3 ×
4 × 4 ×

.kleC 413 161 4 574 × .kleC 813 131 6 944 ×
1 651 06 2 612 × 1 551 88 2 342 ×
2 741 26 6 902 × 2 541 37 1 812 ×
3 × 3 ×
4 × 4 ×

.kleC 303 221 8 524 × .kleC 003 161 3 164 ×
1 751 88 0 542 × 1 641 07 0 612 ×
2 151 17 1 222 × 2 821 27 2 002 ×
3 × 3 ×
4 × 4 ×

.kleC 803 951 1 764 × .kleC 472 241 2 614 ×
1 941 06 3 902 × 1 641 36 1 902 ×
2 931 97 1 812 × 2 741 18 2 822 ×
3 × 3 ×
4 × 4 ×

.kleC 882 931 4 724 × .kleC 392 441 3 734 ×
  avtsžurd nokýv ývokleC 5971 358 22 8462 × 0   avtsžurd nokýv ývokleC 8081 268 82 0762 × 4
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